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SECTION - A [PHYSICS]

1. nks CykWd ,d ?k"kZ.k jfgr Vscy ij laidZ esa gSA
,d dk nzO;eku m vkSj nwljs dk 2m gSA m ij
,d cy F yxk;k tkrk gSA nks fLFkfr;ksa esa
Øe'k% nks CykWd ds chp laidZ cy dk vuqikr
gksxk&

(1) leku (2) 1 : 2

(3) 2 : 1 (4) 1 : 3

2. panzek dk nzO;eku i`Foh ds nzO;eku dk yxHkx
1.2% gSA iF̀oh ds xq:Rokd"kZ.k cy dh rqyuk
esa panzek iF̀oh ij xq:Rokd"kZ.k cy yxkrk gS&

(1) ogh gS

(2) NksVk

(3) vf/kd

(4) blds pj.k ds lkFk cnyrk gS

3. nks oLrqvksa dks dqN nwjh ij j[kk tkrk gS] ;fn
mudk nzO;eku nks xquk gks tkrk gS vkSj muds
chp dh nwjh vk/kh gks tkrh gS rks u, xq:Rokd"kZ.k
cy dk eku gksxk&

(1) 4 ckj (2) 8 ckj

(3) 16 ckj (4) 32 ckj

4. 2 fdyks otuh /kkrq dk ,d xqVdk ,d ?k"kZ.kjfgr
r[r ij fVdk gqvk gSA ;fn ,d tsV }kjk 1

fdyks/lsds.M dh nj ls vkSj 5 ehVj/ lsds.M dh
xfr ls ikuh NksM+k tkrk gSA CykWd dk izkjafHkd
Roj.k gksxk&

(1) 2.5 eh/ls2 (2) 5.0 eh/ls2

(3) 10 eh/ls2 (4) buesa ls dksbZ ugha

1. Two blocks are in contact on a frictionless
table. One has mass m and the other 2m.A
force F is applied on 2m as shown in the
figure. Now the same force F is applied from
the right on m. In the two cases respectively,
the ratio of force of contact between the two
blocks will be :

(1) Same (2) 1 : 2
(3) 2 : 1 (4) 1 : 3

2. The mass of the moon is about 1.2% of the
mass of the earth. Compared to the gravita-
tional force the earth exerts on the moon
and, the gravitational force, the moon ex-
erts on earth :
(1) is the same
(2) is smaller
(3) is greater
(4) varies with its phase

3. Two objects are placed at some distance, if
their masses becomes two times and dis-
tance between them becomes half then value
of new gravitational force will be :

(1) 4 times (2) 8 times

(3) 16 times (4) 32 times

4. A block of metal weighing 2 kg is resting
on a frictionless plank. If struck by a jet re-
leasing water at a rate of 1 kg/s and at a
speed of 5 m/s. The initial acceleration of
the block will be :

(1) 2.5 m/s2 (2) 5.0 m/s2

(3) 10 m /s2 (4) none of the above
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5. ‘g’ dk eku vf/kdre gksxk&

(1) Hkwe/; js[kk

(2) ekmaV ,ojsLV dh pksVh

(3) i`Foh ds /kzqo ij

(4) dqrqc ehukj ij

6. tc dksbZ ?kksM+k xkM+h [khaprk gS] rks ?kksM+s dks
vkxs dh fn'kk esa ys tkus ds fy, vko';d cy
fdlds }kjk yxk;k tkrk gS&

(1) ?kksM+s }kjk xkM+h ij

(2) tehu }kjk ?kksM+s ij

(3) tehu }kjk xkM+h ij

(4) ?kksM+k }kjk tehu ij

7. lfoZl LVs'ku ij iz;qDr gkbMªksfyd fy¶V esa
cM+s vkSj NksVs fiLVu dh f=T;k 20 : 1 ds vuqikr
esa gSA NksVs fiLVu ij j[kk x;k Hkkj 1500

fdxzk nzO;eku dh dkj dks mBkus ds fy, i;kZIr
gksxk\

(1) 3.75 kg (2) 37.5 kg

(3) 7.5 kg (4) 75 kg

8. og Å¡pkbZ tgk¡ d{kh; osx (V
0
) iF̀oh ij iyk;u

osx ds cjkcj gks tk,xk\

(1) H = R

(2) H = 2R

(3) H = 3R

(4) buesas ls dksbZ ugha

5. The value of ‘g’ will be maximum at :

(1) the equator

(2) the top of Mount Everest

(3) the pole of the earth

(4) the kutub Minar

6. When a horse pulls a cart, the force needed
to move the horse in forward direction is the
force exerted by :

(1) the cart on the horse

(2) the ground on the horse

(3) the ground on the cart

(4) the horse on the ground

7. In a hydraulic lift, used at a service station
the radius of the large and small piston are
in the ratio of 20 : 1. What weight placed on
the small piston will be sufficient to lift a
car of mass 1500 kg ?

(1) 3.75 kg (2) 37.5 kg

(3) 7.5 kg (4) 75 kg.

8. The height where orbital velocity (V
0
) be-

comes equal to escape velocity as that on
earth will be?

(1) H = R

(2) H = 2R

(3) H = 3R

(4) None of these
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[CHEMISTRY]

9. ikSVsf'k;e ijeSaxusV dk jlk;fud lw= gS&

(1) KMnO
4

(2) K
2
Cr

2
O

7

(3) K
2
MnO

4

(4) K
2
SO

4

10. Xyks lkbu cksMZ esa  iz;qDr gksus okyh xSl dk
/;ku vkdf"kZr djus fy, foKku n'kZd gS&

(1) ukbVªkstu xSl

(2) fu;ku xSl

(3) gkbMªkstu xSl

(4) dkcZuMkbZ vkWDlkbM xSl

11. FeS cukus ds fy,  S vkSj Fe dks ,d lkFk xeZ
fd;k tkrk gSA S: Fe nzO;eku ds vuqikr esa
lajpuk gS&

(1) 4 : 7 (2) 3 : 7

(3) 4 : 8 (4) 3 : 8

12. buesa ls ,d dksykWbMh foy;u dk p;u dhft,&

(1) lksus ds vkHkw"k.k

(2) jsr ds nkus

(3) pwus dk ikuh

(4) isaV

13. 'ksfoax Øhe fdldk dksykWbM foy;u gS&

(1) rjy esa xSl

(2) rjy esa rjy

(3) rjy esa Bksl

(4) Bksl esa xSl

9. The chemical formula of potassium per-
manganate is

(1) KMnO
4

(2) K
2
Cr

2
O

7

(3) K
2
MnO

4

(4) K
2
SO

4

10. The gas used in the glow sign board for
advertisement to draw the attention of view-
ers is

(1) nitrogen gas.

(2) neon gas.

(3) hydrogen gas.

(4) carbon dioxide gas.

11. S and Fe are heated together to prepare FeS.

Composition in the ratio S:Fe by mass is

(1) 4:7 (2) 3:7

(3) 4:8 (4) 3:8

12. Select a colloidal solution out of the fol-
lowing :

(1) gold ornaments

(2) sand grains

(3) lime water

(4) paint

13. Shaving cream is colloidal solution of -

(1) gas in liquid

(2) liquid in liquid

(3) solid in liquid

(4) gas in solid
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14. Three students Ankit, Dinesh and Manoj
were given three unknown substances X, Y.
and Z respectively during the lab activity.

Property

Substance Boiling point (C°)
Solubility 

in
X 56 Soluble
Y 45 Insoluble
Z 90 Soluble

On the basis of these properties, which stu-
dent has chosen the correct separate tech-
nique, to separate a substance from the sub-
stance – water mixture?
(1) Ankit – Separating funnel

(2) Dinesh – Distillation

(3) Manoj – Fractional distillation

(4) All are correct.
15. What will be the mass by mass percentage

of a solution containing 30 g of common
salt in 200 g of water?
(1) 3% (2) 1.2%
(3) 13.04% (4) 22%

16. After heating common salt and ammonium
chloride for a few minutes, we observe the
following on the upper part of the inverted
funnel:
(1) a reddish brown deposit.
(2) a white solid deposit.
(3) water droplets.
(4) a yellow gas.

14. rhu Nk= vafdr] fnus'k vkSj eukst dks Øe'k%
iz;ksx'kkyk xfrfo/k ds nkSjku rhu vKkr inkFkZ
X, Y vkSj Z fn, x, gS&

laifr

inkFkZ DoFkukad ikuh esa ?kqyu'khyrk

X 56 ?kqyu'khy

Y 45 v?kqyu'khy

Z 90 ?kqyu'khy

bu xq.kks ds vk/kkj ij fdl Nk= us fdlh inkFkZ
dks ty feJ.k ls i`Fkd djus dh lgh rduhd
dk p;u fd;k gS&

(1) vafdr& dhi dks vyx djuk

(2) fnus'k& vklou

(3) eukst& fHkUukRed vklou

(4) lHkh lgh gS&

15. 200 xzke ikuh esa 30 xzke lkekU; ued okys
?kksy dk nzO;eku fdruk izfr'kr gksxk&

(1) 3% (2) 1.2%

(3) 13.04% (4) 22%

16. lkekU; ued vkSj veksfu;e DyksjkbM dks dqN
feuV rd xeZ djus ds ckn] ge mYVs dhi ds
Åijh Hkkx ij fuEufyf[kr ns[krs gS&

(1) ,d yky Hkwjk tek

(2) ,d lQsn Bksl tek

(3) ikuh dh cwans

(4) ,d ihyh xSl
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 [BIOLOGY]

17. IykLeksfyfll ds ckjs esa fuEufyf[kr esa ls dkSu
lk/ls dFku lR; gSa\

I. IykLeksfyfll rc gksrk gS tc ikuh dksf'kdk
esa pyk tkrk gSA

II. gkbiksVksfud foy;uksa esa dksf'kdk fldqM+rh
gSA

III. ;fn cká foy;u lkbVksIykTe ds vksLeksfVd
ncko dks larqfyr djrk gS] rks bls vkblksVksfud
dgk tkrk gSA

(1) I dsoy II (2) III dsoy

(3) I vkSj II dsoy (4) II vkSj III dsoy

18. Bksl inkFkksaZ dks dksf'kdkvksa }kjk xzg.k djuk
dgykrk gS&

(1) fiukslkbVksfll (2)QsxkslkbVksfll

(3)lfØ; ifjogu (4)v‚Vksfyfll

19. dksf'kdk dsUæd dh [kkst dh Fkh

(1) ns nqos (2) fojpks

(3) j‚cVZ gqd (4) j‚cVZ czkmu

20. fuEu esa ls dkSu ,d çdkj dh 'osr jä dksf'kdk
gS\

(1) vfLFkdksf'kdk (2) ,fjFkzkslkbV

(3) jsfVdqykslkbV (4) fyEQkslkbV

21. fpduh ekalisf'k;ka gSa

(1) vuSfPNd] csyukdkj] /kkjhnkj

(2) vuSfPNd] ¶;wlhQ‚eZ] xSj&/kkjhnkj

(3) LoSfPNd] cgq dsaæd] csyukdkj

(4) LoSfPNd] fLiaMs ds vkdkj dk] ,ddksf'kdh;

17. Which of the following statements about

plasmolysis is/are true?

I. Plasmolysis occurs when water moves into

the cell.

II. Cell shrinks in hypotonic solutions.

III. If the external solution balances the os-

motic pressure of the cytoplasm, it is said to

be isotonic.

(1) I only II (2) III only

(3) I and II only (4) II and III only

18. Engulfing of solid materials by cells is
called-
(1) pinocytosis (2) phagocytosis
(3) active transport (4) autolysis

19. The cell nucleus was discovered by-

(1) De duve (2) Virchow

(3) Robert Hooke (4) Robert Brown

20. Which of the following is a type of white
blood cell?

(1) Osteocyte (2) Erythrocyte

(3) Reticulocyte (4) Lymphocyte

21. Smooth muscles are-

(1) Involuntary, cylindrical, striated

(2) Involuntary, fusiform, non-striated

(3) Voluntary, multi nucleate, cylindrical

(4) Voluntary, spinde shaped, uninucleate
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22. ylhdk dk egRoiw.kZ dk;Z gSA

(1) efLr"d rd v‚Dlhtu igq¡pkukA

(2) RBC dks fyEQ uksM~l esa ykSVk,aA

(3) jä esa varjkyh; æo ykSVkukA

(4) QsQM+ksa esa CO
2
 dk ifjogu djrk gSA

23. lokZf/kd fofo/krk fdl la?k esa ikbZ tkrh gS \

(1) çksVkstksvk (2) ,usfyMk

(3) vkFkZzksiksMk (4) d‚MsZVk

24. f}chti=h ,dchti=h ls fHkUu gksrs gSa&

(1) isaVkesjl Qwy (2) VSi :V flLVe

(3) ifÙk;ksa esa tkyhnkj f'kjk,¡

(4) mijksä lHkhA

22. The important function of lymph is to:
(1) transport oxygen to the brain.
(2) return RBC to the lymph nodes.
(3) return interstitial fluid to the blood.
(4) transport CO

2
 to the lungs.

23. Maximum diversity is found in which phy-
lum?
(1) Protozoa (2) Annelida
(3) Arthropoda (4) Chordata

24. Dicots differ from monocots in having-
(1) Pentamerous flowers
(2) Tap root system
(3) Reticulate venation in leaves
(4) All of the above.
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 [MATHS]

25. 10(10 )10 dk 100 ok¡ ewy gksxk&

(1) 10810 (2) 81010

(3) 
10( 10 )( 10) (4) ( 10 )10( 10)

26. ;fn 44 44 44 444 4 4 4 4x     rks x dk eku
Kkr djks&

(1) 45 (2) 44

(3) 176 (4) 11

27. ;fn 
1

1a
a

   rks 4
4

1
a

a
  dk eku Kkr

djus ds fy, lgh Øe gksxk&

(a) 
2 2

2 2

1 1
2 1 1a a

a a
      

(b)  
2

22
2

1
2 1a

a
    
 

(c) 
2

21
1a

a
   
 

(d)  
2

22
2

1
1a

a
    
 

(e) 
4

4

1
1a

a
  

(1) CADBE (2) CDBAE

(3) CBADE (4) CEDAB

25. The 100th  root of 10(10 )10 is-

(1) 10810 (2) 81010

(3) 
10( 10 )( 10) (4) ( 10 )10( 10)

26. If 44 44 44 444 4 4 4 4x     then x is

(1) 45 (2) 44

(3) 176 (4) 11

27. The following are the steps involved in find-

ing the value of 
4

4

1
a

a
 , when 

1
1a

a
  .

Arrange them in sequential order from the
first to the last.

(a) 
2 2

2 2

1 1
2 1 1a a

a a
      

(b)  
2

22
2

1
2 1a

a
    
 

(c) 
2

21
1a

a
   
 

(d)  
2

22
2

1
1a

a
    
 

(e) 
4

4

1
1a

a
  

(1) CADBE (2) CDBAE

(3) CBADE (4) CEDAB
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28. (a + 2b)3 + (2a – c)3 – (a + 2c)3 +

3(a + 2b)(2a – c)(a + 2c) dk ,d xq.kkad gksxk&

(1) 2a + 2b – 3c (2) 2a – 2b + 3c

(3) 2a + 2b + 3c (4) –2a – 2b – 3c

29. fuEu esa ls dkSulk cgqin ugha gS\

(1) 
217

3
2
x x  (2) 3 2/37 3 8x x 

(3) 3 (4) 0

30. ;fn fcUnq A o B ds funsZ'kkad Øe'k% (10, 5)

vkSj (–7, –4) gS] rc (A dk x funsZ'kkad)–( B dk
y funsZ'kkad)

(1) –14 (2) 14

(3) –10 (4) –12

31. 3x+ 5y + 15 = 0 ds fdrus gy gksxs&

(1) ,d (2) nks

(3) ,d Hkh ugha (4) vuUr

32. ;fn ( 2, 2)  4 3 2x ay   rks a dk eku

gksxk&

(1) 1 (2) –1

(3) 0 (4) –2

33. ;wfDyM dh ifjHkk"kk ds vuqlkj js[kk ds var
gksaxs&

(1) pkSMkbZghu (2) fcUnqvksa

(3) yEckbZghu (4) i`"B

34. Bksl ,d gS\

(1) dksbZ vk;ke ugha (2) ,d T;kfefr;

(3) nks T;kfefr; (4) f=T;kferh;

28. One of the factor of (a + 2b)3 + (2a – c)3

– (a + 2c)3 + 3(a + 2b)(2a – c)(a + 2c) is

(1) 2a + 2b – 3c (2) 2a – 2b + 3c

(3) 2a + 2b + 3c (4) –2a – 2b – 3c

29. Which of the following algebraic expres-
sions is not a polynomial?

(1) 
217

3
2
x x  (2) 3 2/37 3 8x x 

(3) 3 (4) 0

30. If the coordinates of two points A and B are
(10, 5) and (–7, –4) respectively. Then the
value of (x-coordinate of A) – (y-coordinate
of B) is

(1) –14 (2) 14

(3) –10 (4) –12

31. The number of solutions, the equation

3x + 5y + 15 = 0 can have is

(1) one only (2) exactly two

(3) no solution (4) infinite

32. If ( 2, 2)  lies on the graph

4 3 2x ay   then the value of a equals

(1) 1 (2) –1

(3) 0 (4) –2

33. According to Euclid's definition, the ends
of a line are

(1) breadthless (2) points

(3) lengthless (4) Surface

34. A solid has

(1) no dimension (2) one-dimension

(3) two-dimensions (4) three-dimensions
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35. ;fn AB|| CD rks x dk eku&

(1) 180

(2) 150

(3) 200

(4) 250

36. nks vkUrfjd dks.k tks ,d fr;Zd js[kk dh vksj
gS rFkk os lekUrj js[kkvksa dks 5 : 4 esa foHkkftr
djrs gS rks cM+k dks.k gksxk&

(1) 540

(2) 1000

(3) 1200

(4) 1360

37. ;fn x rFkk y iwjd dks.k gS] rc fuEu esa ls
lEiwjd dks.k gksxsa&

(1) (x + 470)(y + 430)

(2) (x–230), (y + 230)

(3) (x–430), (y–470)

(4) ,slk tksM+k laHko ugha

35. If AB|| CD, what is the value of x?

(1) 180

(2) 150

(3) 200

(4) 250

36. If two interior angles on the same side of
transversal intersecting two parallel lines are
in the ratio 5 : 4, then the greater of the two
angles is

(1) 540

(2) 1000

(3) 1200

(4) 1360

37. If angle with measure x and y form a comple-
mentary pair, then angles with which of the
following measures will form a supplemen-
tary pair?

(1) (x + 470)(y + 430)

(2) (x–230), (y + 230)

(3) (x–430), (y–470)

(4) No such pair is possible
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38. fp= esa x rFkk y dk eku Kkr djsa&

(1) x = 700, y = 370 (2) x = 370, y = 700

(3) x + y = 1170 (4) x – y = 1000

39. BAC esa ;fn B <A rc&

(1) BC > CA (2) BC < CA

(3) BC > AB + CA (4) AB < CA

40. ABC dh ekf/;dk Øe'k% fcUnq B o C ls yEc
Mkys x;s gS rks lgh pquko gksxk\

(1) BL || CM (2) BLD CMD  

(3) LD = AL (4) bueas ls lHkh

38. In the given figure, x and y are

(1) x = 700, y = 370 (2) x = 370, y = 700

(3) x + y = 1170 (4) x – y = 1000

39. In BAC if B <A,  then:

(1) BC > CA (2) BC < CA

(3) BC > AB + CA (4) AB < CA

40. Observe the figure, AD is the median of
ABC, BL and CM are perpendiculars
drawn, from B and C respectively. Select the
correct option

(1) BL || CM (2) BLD CMD  

(3) LD = AL (4) All of these
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SECTION - C [MENTAL ABILITY]

41. lgh lehdj.k izkIr djus ds fy, fn, x,
fodYiksa esa ls fpg~uksa ds fdl lsV dks ‘*’ ds
LFkku ij Øfed :i ls izfrLFkkfir djuk gS

72 * 36 * 18 * 3 * 12 * 36

(1) –, ÷ , ×, = + (2) ÷ , ×, +, =, –

(3) =, +, ÷ , ×, – (4) –, ×, ÷ , =, +

42. ;fn x vkSj = rFkk 7 vkSj 9 dks vkil esa
vny&cny fn;k tk, rks fuEufyf[kr esa ls
dkSulk lehdj.k lgh gksxk&

(1) 10 + 9 × 6 = 7 (2) 4 = 7 – 9 × 20

(3) 36 ÷ 4 × 7 = 9 (4) 9 = 3 + 7 × 30

43. ;fn fdlh dwVHkk"kk eas 'kCn ‘REKHA’ dks
‘AHKER’ fy[kk tkrk gS rks mlh Hkk"kk esa
‘HEMA’ dks dSls fy[kk tk,xk&

(1) AMEH (2) EMAH

(3) MAHE (4) EAMH

funsZ'k ¼iz'u la[;k 44 ls 45½%& ;gk¡ ,d Ñf=e
Hkk"kk ls vuqokn fd, x, dqN 'kCn fn, x, gSaA
lacaf/kr iz'uksa ds mÙkj nsa&

44. ‘aptaose’ dk vFkZ gS ‘first base’

‘eptaose’ dk vFkZ gS ‘second base’

‘lartabuk’ dk vFkZ gS ‘baseball’

fdl 'kCn dk vFkZ ‘baseball’ gks ldrk gS\

(1) bulklarta (2) oseepta

(3) oselarta (4) none of these

41. To get correct equation choose, which set
of signs from the given alternatives to be
substituted sequentially places of (*).

72 * 36 * 18 * 3 * 12 * 36

(1) –, ÷ , ×, = + (2) ÷ , ×, +, =, –

(3) =, +, ÷ , ×, – (4) –, ×, ÷ , =, +

42. When interchange of × and = 7 and 9 made,
find which of the following equations would
be correct.

(1) 10 + 9 × 6 = 7 (2) 4 = 7 – 9 × 20

(3) 36 ÷ 4 × 7 = 9 (4) 9 = 3 + 7 × 30

43. If in a coded language the word 'REKHA' is
written as 'AHKER' then in the same code
language 'HEMA' will be written as

(1) AMEH (2) EMAH

(3) MAHE (4) EAMH

Direction (Q.44 to 45): Here are some
words translated from an artificial lan-
guage. Answer the related questions.

44. 'aptaose' means 'first base'

'eptaose' means 'second base'

'lartabuk' means 'ball park'

Which word could mean 'baseball' ?

(1) bulklarta (2) oseepta

(3) oselarta (4) none of these
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45. ,d dksM esa ‘Mumbai’ dks ‘Sostpk’ fy[kk
tkrk gS vkSj ‘Chennai’ dks ‘Dcfmmpk’ fy[kk
tkrk gS rc ‘bench’ dks dSls fy[kk tk,xk&

(1) mfmde

(2) tmfde

(3) tfmdc

(4) tfdmc

46. A,B,C vkSj D dSje [ksy jgs gSaA C,A rFkk
D,B lk>hnkj gSA D,C ds nkabZ vkSj gSA C dk
eq[k if'pe dh vksj gSA rc B dk eq[k fdl
fn'kk esa gS\

(1) mÙkj

(2) nf{k.k

(3) iwoZ

(4) if'pe

47. ,d eksVjlkbZfdy pkyd LFkku A ls B dh vksj
iwoZ fn'kk eas pyrk gSA B ls og cka;h vksj eqM+rk
gS vkSj 2 fdeh- pyrk gSA fQj og nka;h vksj
eqM+rk gS vkSj 1.5 fdeh pyrk gSA fQj ls og
nk,¡ eqM+rk gS vkSj 2 fdeh pyrk gSA fQj og
ck,¡ eqM+rk gS vkSj 2.5 fdeh pyrk gS vkSj :d
tkrk gSA ;fn og izkjafHkd LFkku A ls 7 fdeh-
dh nwjh ij gS] rks A vkSj B ds chp dh nwjh Kkr
dhft,&

(1) 2.5 fdeh-

(2) 3 fdeh-

(3) 4 fdeh-

(4) 1 fdeh-

45. In a code 'Mumbai' is written as 'Sostpk' and
'Chennai' is written as 'Dcfmmpk', then
'bench' will be written as -

(1) mfmde

(2) tmfde

(3) tfmdc

(4) tfdmc

46. 1A, B, C and D are playing carom C, A and
D, B are partners. D is to the right of C. C
is facing West. Then, B is facing which di-
rection ?

(1) North

(2) South

(3) East

(4) West

47. A motor cyclist moves from a place A to B

in East direction. From B he turns to left

and moves for 2 km. He then takes a right

and rides for 1.5 km. Again he turns right

and moves for 2 km. He then takes a left

turn and rides for 2.5 km. and stops. If he is

at a distance of 7 km from starting place A,

find the distance between A and B.

(1) 2.5 km

(2) 3 km

(3) 4 km.

(4) 1 km



(14)

48. fuEukafdr fp= esa dqN bZaVksa dks O;ofLFkr djds
fn[kk;k x;k gSA fp= esa fdruh bZaVs fn[kkbZ ugha
ns jgh ¼tks ihNs dh vksj fNih gqbZ gS½\

(1) 9 (2) 8

(3) 7 (4) 6

49. fuEufyf[kr iz'u esa vkÑfr dks f=foeh; vkdkj
esa eksM+k x;k gSA Kkr dhft, fd fodYiksa esa ls
dkSulh vkÑfr fn[kkbZ nsxh\

         

(1) (2) 

(3) (4) 

48. Few bricks are arranged as shown in the fol-
lowing figure. How many bricks are unseen
(that is hidden backside) in the figure ?

(1) 9 (2) 8

(3) 7 (4) 6

49. In the fowling question figure is folded in
three dimensional shape, find which one the
shapes among the alternatives appear.

         

(1) (2) 

(3) (4) 
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50. ,d ikls dks rhu ckj mNkyk tkrk gS vkSj
mldh rhu fLFkfr;k¡ uhps nh xbZ gSA ?ku ds
Qydksa ds foijhr ;qXe Kkr dhft,A

(1) (5, 4), (3, 1), (2, 6)

(2) (2, 5), (4, 1), (3, 6)

(3) (4, 6), (3, 5), (2, 1)

(4) (2, 1), (3, 4), (6, 5)

50. A dice is thrown thrice and its three posi-
tions are given below. Find the opposite pairs
of the faces of the cube.

(1) (5, 4), (3, 1), (2, 6)

(2) (2, 5), (4, 1), (3, 6)

(3) (4, 6), (3, 5), (2, 1)

(4) (2, 1), (3, 4), (6, 5)




